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ERROR DETECTION




Q.1. The car that he is using these days is

belonging to his employer.
a) these days is belonging
b) The car that he is using

¢) No error

d) to his employer

Answer: (A) Present Simple i.e. these days
belongs is the right usage
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Q.2. We were very much (1) /carefully in our

approach (2)/ and hence we (3)/ completed the
complicated task (4)

a) completed the complicated task

b) carefully in our approach

¢) We were very much

d) and hence we

Answer: (B) Replace carefully with careful



Q.3. The door should be keep closed.

a) No error
b) should be
¢) keep closed
d) The door

Answer: (c¢) Structure of the sentence in Passive
Voice : Subject + should/would + be + V3
Hence, kept closed is the right usage



Q.4. Roger dressed (1)/ with his best shirt, (2)/
silver tie and black jacket. (3)/ No error (4)

a) with his best shirt,
b) silver tie and black jacket.
¢) Roger dressed

d) No error

(A) Replace ‘“WITH' with ‘IN’.



Q.5. Wise men follow nobel (1)/ ideas whereas
fools (2)/ disregard them. (3)/ No error (4)

a) ideas whereas fools
b) disregard them.

¢) Wise men follow nobel

d) No error

Answer: (¢)

nobel — founder of Nobel Prizes : Nobel
noble (Adj.) : showing fine personal qualities



Q.6. The scissors, which (1) / are on the
table(2)/ belongs to Radha. (3)/ No error (4)

a) are on the table
b) belongs to Radha.
¢) The scissors, which

d) No error
Answer: (b)

Here, scissors is a Plural Subject.
belong to Radha is the right usage.



Q.7. Do you think you could lend me good pair
of gloves to wear to the wedding ?
a) to wear to the wedding ?

b) good pair of gloves

¢) Do you think you could lend me

d) No error

Answer: (b) Indef. Art. — a will be used before good pair
of gloves Hence, a good pair of gloves is the right

usage



8. You will not (1)/ succeed unless you (2)/
don’t work hard. (3)/ No error (4)

a) succeed unless you
b) don’t work hard.
¢) You will not

d) No error

(b) “work hard” will replace “don’t work hard”



9. The boy (A)/ which money (B)/ was lost

felt sorry. (C)/No error (D)

Answer: (b) Whose is used to say which person

or thing you mean.



10. When your in doubt (1)/ about your best
friend's loyalty (2)/you can't help being

disappointed. (3)/ No error (4)

Answer: (a) Here, not a Possessive Pronoun
but Nominative Case i.e. When you are
(you’re) in doubt is the right usage.
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11. Find the synonym of ALLEVIATE

A. Understand
B. Remove

C. Eradicate
D. Lessen

D. Lessen




12. Find the synonym of FLYING COLOURS

A. Being pleasant
B. Notable success
C. Enviable

D. Highly ambitious

B. Notable success



13. The prisoner has been languishing in

jail for the last many years.
A. convicted
B. suffering
C. avoiding

D. enjoying

B. suffering
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14. He was punished for shirking his

official work.
A. delegating
B. avoiding

C. postponing

D. slowing

B. avoiding



15. Find the synonym of HOSTILITY

A. Disturbance
B. Enmity

C. Illness
D. Derogatory

B. Enmity




SENTENCE
IMPROVEMENT




16. If I played well, I would have won the match.

a) I had played well
b) I play well

¢) I am playing well
d) No improvement

a) I had played well



17. He has for good left India.
a) He has left for good India.
b) He has left India for good
¢) Good he has left India.

d) No improvement

b) He has left India for good




18. It is difficult to judge which is the older

of the two brothers.
(a) old of
(b) older
(c) elder of

(d) No improvement

(c) elder of



19. A few word of gratitude are enough to

express your feelings sincerely.
(a) Few word of
(b) a few words of

(c) the few word

(d) No improvement

(b) a few words of



20. One third of the students has passed.

(a) Have passed
(b) Kindly enough
(c) enough kindly

(d) No improvement

Ans.(a) Sol. One third of/The rest of /Part of +

Plural countable noun takes Plural verb



21.1 have my own house, Don’t I?
(a) Hasn’t 1

(b) Haven’t I

(c) Didn’t I

(d) No improvement

Ans. (b) Haven’t I




22. Sonu would had got this offer if he had

attended the interview.
(a) Would have had
(b) Would
(c) Would have

(d) No improvement

Ans. (¢c) Would have



23. The teacher asked them to stop write.

(a) to have stopped writing
(b) to stop writing
(c) to stop written

(d) No improvement

Ans. (b) to stop writing




24. The fact that he can’t be able to sing is

known only to very few people.
(a) is not able to
(b) couldn’t be able to
(c) can’t be

(d) No improvement

Ans. (a) is not able to



25. I made him to do the project against

his wishes.
(a) to be done
(b) to have done
(c¢) do

(d) No improvement

Ans.(¢) Sol. Use ‘Do’ in place of to do,
(make/made+ obj + + V1) i.e make when

used in active voice takes bare infinitive.



[ Home Work Answer

His essay is

A. completely
. complete
halfly

. completion

Mol

done.



D Home Work

Sunrise is a great phenomena.
(a) Phenomenon

(b) Phenomenons

(c) Phenomenas

(d) No improvement
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